Homework Review

1 Solve the following equations for 0° < 6 < 360°.
(i) 2sin26 = cos@ (ii) tan20 =4tan@ (iii) cos260 + sinf =0
(iv) tanftan20 =1 (v) 2cos20 =1+ cosO

2 Solve the following equations for —z < 0 < 7.
(i) sin20 = 2sin@ (ii) tan260 =2tan® (iii) cos20 —cosf=0

(iv) 1 + cos20 =2sin’0 (v) sin40 = cos26
(Hint: Write the expression in part (v) as an equation in 26.)

3 By first writing sin 30 as sin(20 + 0), express sin 360 in terms of sin 6.
Hence solve the equation sin360 = sinf for 0 < 0 < 27.

4 Solve cos30 =1 —3cosf for 0° = 0 = 360°.

1+ cosZ().

5 Simplify Sin 20

6 Express tan30 in terms of tan 0.
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2 Solve the following equations for -z < 0 < 7.
(i) sin20 = 2sind@ (ii) tan260 = 2tan@ (iii) cos20 —cosf =0
(iv) 1 + cos20 = 2sin?@ (v) sin40 = cos20
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4 Solvecos30=1-3cosf for 0° = @0 = 360°.
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